2 T (100)REE
g L (170)XeEdeI2se
Mg : (173)Els HA LB X2+ (etelde)
i3 St St =} A} OH Jlé" ) =2t
2 g Ng. = Ofl &F 28 Ol AF ol Hws
100 =& =L 97,967,742 75,956,195 22,011,547
170 =23+ 44,059,795 40,456,195 3,603,600
173 BtalHAEEES =S 37,856,255 36,811,255 1,045,000
173-01 208x224¢ 32,658,615 31,858,615 800,000
O &td, o458 B3ot=HelAlE SEAMY
a8 3,777,000,000& - JI& 2,215,000,000& 3,777,000 2,215,000 1,562,000
O ctotEEoteHelAld SEAS
3 & 1,866,000,000& - J|& 305,000,000 1,866,000 305,000 1,961,000
O M8 s B3ot==HMelAld SEAM SSHEMS 22
2 & 100,000,000& - 21& 300,000,000& 100,000 300,000 200,000
O ot=WHNHI| NatXelANE SLEAS
238 500,000,000& - J1& 3,623,000,000& 500,000 3,623,0001 23,123,000
O &4SXY(BHA) 222 FHElALY
43 1,012,000,000& - JI& 512,000,000& 1,012,000 512,000 500,000
O &H& QHotXI (2EHH) @+22 HUIAIZ
3 & 1,163,000,000& - J|& 663,000,000 1,163,000 663,000 500,000
173-02 Bt HAEL B =L 3,165,640 3,203,640 A38,000
[ZEMLEESH-GS2+HIIS3 AH2EX]
O ctotEEoteHelAld SE A
238 149,000,000& - J|& 57,000,000& 149,000 57,000 92,000
O ot=MIHI|I RHJSIHelAld SEAY
23 0% - J1& 18,000,000& 0 18,000 /18,000
O Usot=xel 7Y @22 ZHISA
Z2& 0% - JIE 112,000,000& 0 112,000 A112,000
173-03 AlI&CHIE X324 2,032,000 1,749,000 283,000
O &g, d4s33ctHMalAE SEAY
238 747,000,000& - J|& 452,000,000 747,000 452,000 295,000




2 (100) 2 X4
& (170)H2doiz+
NIg: (173)etel HAd 88 23+ el )
el 3 St St ==} A} OH jl)él =2+
O ototEEBota=XelAlE SEAY
23 325,000,000& - JI&¥ 47,000,000 325,000 47,000 278,000
O 48 s S3ot=XelAE SEAZE SEHAEMB S
23 33,000,000& - JI& 100,000,000& 33,000 100,000 267,000
O ot==NMNJI THEsHelAE SEAY
Z & 98,000,000& - JI&¥ 767,000,000 98,000 767,000 669,000
O &4SXH(3LHH) 222 FHIAY
Z & 180,000,000& - J1& 74,000,000 180,000 74,000 106,000
O &8 oatXIE(2etH) 222 FHIAY
Z& 119,000,000& - JI& 94,000,000 119,000 94,000 25,000
O st=2ot=HMelRA(EHMel2F) S22 FHIMY
Z & 351,000,000 - J1& 36,000,000 351,000 36,000 315,000
177 HeNRg=2+ 6,203,540 3,644,940 2,558,600
177-01 FUNHRES 6,203,540 3,644,940 2,558,600
O Z B3dt+=HMalAE SE(LH) At
&% 2,558,600,000& - J1& 0 2,558,600 0 2,558,600
180 | 2X3 53,907,947 35,500,000 18,407,947
181 =AMAHL 0= 53,407,947 35,000,000 18,407,947
181-01 =AMAHLAHS 53,407,947 35,000,000 18,407,947
O =HALH=
Z & 53,407,947,000& - J1& 35,000,000,000& 53,407,947 35,000,000 18,407,947




